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DIRECT AND INVERSE VARIATIONS

1. Observe the table given below and find

whether x and y are in direct variations or not


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_shT1as65PBlC

10

14

18

24

42

° Watch Video Solution

2. From tha table given below find whether x

and y in direct proporation or not.

x |30 |20 | 24 | 16
y |3 | 30 | 30 | 20

o Watch Video Solution



https://dl.doubtnut.com/l/_shT1as65PBlC
https://dl.doubtnut.com/l/_JfuWlITwfaJ2

3.IF p and q are in direct variation of x, y and z

in the table given below:

° Watch Video Solution

4. If x and y vary directly find the missing

entries:


https://dl.doubtnut.com/l/_JfuWlITwfaJ2
https://dl.doubtnut.com/l/_eUXCQLKNk2D4
https://dl.doubtnut.com/l/_8txi3jc2J0A2

1545::;

o Watch Video Solution

5. A car cover a distance of 216 km consuming
12 litres of petrol. How much distance will it

cover consuming 18 litres of petrol ?

n-uq_ur-,_, W
f ) 13'1 18

° Watch Video Solution



https://dl.doubtnut.com/l/_8txi3jc2J0A2
https://dl.doubtnut.com/l/_vmtdPzdRB235

6.15 m of cloth costs Rs. 1,940. find, how many
metres of cloth of the same kind can be

bought for Rs.4,6567

o Watch Video Solution

7. A journey of 240 km costs Rs. 4,080. how

much distance will cost Rs.7,3447

Distance (in km) | 240 <
Cost (in ?) 4080 7344

o Watch Video Solution



https://dl.doubtnut.com/l/_HXdaEroxzIfa
https://dl.doubtnut.com/l/_Jn1b01VK5yrp

8. A vertical pole,2 m 80 cm high, casts a
shadow 1 m 60 cm long. Find, at the same
time,

The length of shadow casted by a 5 m 25 cm

high pole

° Watch Video Solution

9. A vertical pole 2 m 80 cm high, casts a

shadow 1 m 60 cm long. Find, at the same time


https://dl.doubtnut.com/l/_Jn1b01VK5yrp
https://dl.doubtnut.com/l/_JPnHgVZEHn1K
https://dl.doubtnut.com/l/_Wr3zuurzpEmX

The height of the pole which casts a shadow

of length 2 m 50 cm.

° Watch Video Solution

10. In which of the following tables x and y vary

inversely.
x| 2 | 4 8
y 32 16 8

° Watch Video Solution



https://dl.doubtnut.com/l/_Wr3zuurzpEmX
https://dl.doubtnut.com/l/_eFyFDEigAZ34
https://dl.doubtnut.com/l/_EPkxUNyKuNC4

11. In which of the following tables x and y vary

inversely.

2 4 8

X
I_ ¥y | 32 16 g

o Watch Video Solution

12. If p and q vary inversely, find the values of

X,y and z.
p | 8 2 y 10 |
q | 25 X 5 z



https://dl.doubtnut.com/l/_EPkxUNyKuNC4
https://dl.doubtnut.com/l/_RPdieJ1XOXqB

I 0 Watch Video Solution I

13. If p and q vary inversely, find the values of

X,y and z.

|
p 1| 3 | 8 |z |
|

4

i
il

q 16

o Watch Video Solution

14.If 78 men can do a work in 140 days, in how

many days will 42 men do the same work ?



https://dl.doubtnut.com/l/_RPdieJ1XOXqB
https://dl.doubtnut.com/l/_3bvVgSGf7MeS
https://dl.doubtnut.com/l/_SvR12KCQTbZs

o Watch Video Solution

15. A fort had provisions for 300 men for 90
days. After 20 days, 50 men left the fort. How

long would the food last at the same rate?

o Watch Video Solution

16. A hostel had provisions for 75 students for
30 days. After 6 days, 15 more students joined

the hostel. How long would the remaining


https://dl.doubtnut.com/l/_SvR12KCQTbZs
https://dl.doubtnut.com/l/_Hzd3mcObjQZe
https://dl.doubtnut.com/l/_2RjMX6DMWECw

provisions last at the same rate for all the

students ?

° Watch Video Solution

17. 8 men or 6 women earn Rs. 960 in one day.

One day's earning of a man.

o Watch Video Solution

18. 8 men or 6 women earn Rs. 960 in one day.

One day's earning of a woman.


https://dl.doubtnut.com/l/_2RjMX6DMWECw
https://dl.doubtnut.com/l/_SARap8mdMvd6
https://dl.doubtnut.com/l/_tXlEnMjxcia3

° Watch Video Solution

19.8 men or 6 women earn Rs. 960 in one day.

One day's earning of 4 men and 5 women.

o Watch Video Solution

20. 2 men or 3 women can do a piece of work
in 45 days. Find, in how many days will 6 men
and 1 woman be able to complete the same

work ?

| e |


https://dl.doubtnut.com/l/_tXlEnMjxcia3
https://dl.doubtnut.com/l/_m91QEkpOfxOn
https://dl.doubtnut.com/l/_IVzAAQZGdpFM

& Wwatch Video Solution I

21. 3 men and 4 boys can complete a certain
amount of work in 28 days, whereas 4 men and
6 boys can complete the same work in 20 days.
Find :

The number of days required by 7 men and 6

boys to complete the same work.

° Watch Video Solution



https://dl.doubtnut.com/l/_IVzAAQZGdpFM
https://dl.doubtnut.com/l/_oq8YavMRiT0y

22. 3 men and 4 boys can complete a certain
amount of work in 28 days, whereas 4 men and
6 boys can complete the same work in 20 days.
Find :

The number of days required by 7 men and 6

boys to complete the same work.

o Watch Video Solution

23. 30 men can build a wall in 50 days. How

many more men are required to build another


https://dl.doubtnut.com/l/_eCzYm3pqeybu
https://dl.doubtnut.com/l/_ak96f7VwBhBJ

wall, double in size,in 75 days?

o Watch Video Solution

24. A camp had sufficient food for 400 soldiers
for 20 days. However, some soldiers left on the
first day only and the the food lasted for 32

days. Find, how many soldiers had left ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ak96f7VwBhBJ
https://dl.doubtnut.com/l/_DUb7MuGhW6F6

25. Eight men can dig a field 14 days,working 6
hours a day. In how many days can 7 men dig

the same field, working 8 hours a day ?

o Watch Video Solution

26. 108 kg of ration is sufficient for 18 students
for 15 days. Find, for how many students will

70 kg ration be sufficient for 25 days.

o Watch Video Solution



https://dl.doubtnut.com/l/_WIz9SuKqtbhJ
https://dl.doubtnut.com/l/_AlDOQa3byCCc
https://dl.doubtnut.com/l/_a5jB1CaqdDKv

27. A contractor undertook to build a road in
200 days. He employed 140 men. After 60 days,
he found that only one-fourth of the road
could be built. How many additional men
should he emp,oyed to complete the work in

time ?

o Watch Video Solution

28. A certain sum is divided equally among 50

boys and each boy gets 75. if the same sum is


https://dl.doubtnut.com/l/_a5jB1CaqdDKv
https://dl.doubtnut.com/l/_w93dwjLuA1n5

divided equally among 60 boys, how much will

each get ?

° Watch Video Solution

29. The cost of 15 pens is Rs.375. Find, how

many pens can be bought for Rs. 800.

o Watch Video Solution

30. A can do a piece of work in 80 days and B

in 100 days. They work together for first 20


https://dl.doubtnut.com/l/_w93dwjLuA1n5
https://dl.doubtnut.com/l/_Vuth8h5WuxIb
https://dl.doubtnut.com/l/_d0TJc2h8VgJL

days before B goes away. In how many days

will A manage to finish the remaining work?

° Watch Video Solution

31. A and B can finish a piece of work in 12 days,
B and C in 15 days shile C and A in 20 days.
How long will they take to finish it together ?

How long will each take to finish the work

alone ?

° Watch Video Solution



https://dl.doubtnut.com/l/_d0TJc2h8VgJL
https://dl.doubtnut.com/l/_G5RxhfUPzyt7
https://dl.doubtnut.com/l/_fOZsdC0sbxOH

32.Acando 3 of a certain work in 12 days and

B can do 5 of the same work in 4 days. Find,

in how many days will they together complete

the work ?

o Watch Video Solution

33. A and B can do a piece of work in 45 days
and 40 days respectively.They began the work
together but A leaves after some days and B
finishes the remaining work in 23 days. After

how many days did A leave the work ?


https://dl.doubtnut.com/l/_fOZsdC0sbxOH
https://dl.doubtnut.com/l/_QydIstVuxJEQ

° Watch Video Solution

34. An empty cistem can be filled by two pipes
A and B in 12 minutes and 16 minutes
respectively and the full cistem can be
emptied by a third pipe C in 8 minnutes. If all
the pipes be tumed on at the same time, in

how much time will the empty cistern be full ?

o Watch Video Solution

Exercise 10 A



https://dl.doubtnut.com/l/_QydIstVuxJEQ
https://dl.doubtnut.com/l/_WlZcthCrTakv

1. In which of the following tables x and y vary

directly:

n

y

4.5

7.5

12

16.5

O Watch Video Solution

2.In which of the following tables x and y vary

directly:

16

8

&

=



https://dl.doubtnut.com/l/_QddOEC28VhMS
https://dl.doubtnut.com/l/_0gbDiNm7imTI

\ ° Watch Video Solution

3.In which of the following tables x and y vary

directly:
X rd ) 45 54 75
y 81 180 | 216 | 225

° Watch Video Solution

4.1f x and y vary directly, find the values of x, y

and z:


https://dl.doubtnut.com/l/_0gbDiNm7imTI
https://dl.doubtnut.com/l/_gHW3Ep6LmIcO
https://dl.doubtnut.com/l/_xGV6GAIKS8Jm

° Watch Video Solution

5. A truck consumes 28 litres of diesel for
moving through a distance of 448 km. How

much distance will it cover in 64 litres of diesel

° Watch Video Solution



https://dl.doubtnut.com/l/_xGV6GAIKS8Jm
https://dl.doubtnut.com/l/_ur9JwBAKODVE

6. For 100 km, a taxi charges Rs. 1,800. How

much will it charge for a journey of 120 km ?

° Watch Video Solution

7. If 27 identical articles cost Rs. 1,890, how

many articles can be bought for Rs. 1,750 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gYmfhcNBZ59m
https://dl.doubtnut.com/l/_hxhzQM1hpAA3

8. 7 kg of rice costs Rs. 1,120. How much rice

can be bought for Rs. 3,680 ?

o Watch Video Solution

9. 6 note- books cost Rs. 156, find the cost of 54

such note-books.

o Watch Video Solution



https://dl.doubtnut.com/l/_D8i7L02k0Zii
https://dl.doubtnut.com/l/_HLsS4Mlv3DT3

10. 22 men can dig a 27 m long trench in one
day. How many men should be employed for
digging 135 m long trench of the same type in

one day ?

° Watch Video Solution

11. If the total weight of 11 identical articles is
77 kg, how many articles of the same type

would weight 224 kg ?

° Watch Video Solution



https://dl.doubtnut.com/l/_kwVOucGNlC10
https://dl.doubtnut.com/l/_EKPk9yMoyYab

12. A train is moving with uniform speed of 120
km per hour.

How far will it travel in 36 minutes ?

° Watch Video Solution

13. A train is moving with uniform speed of 120
km per hour.

In how much time will it cover 210 km ?

° Watch Video Solution



https://dl.doubtnut.com/l/_EKPk9yMoyYab
https://dl.doubtnut.com/l/_ZHelSkzBXk9t
https://dl.doubtnut.com/l/_qyn3BdMHUiNC

Exercise 10 B

1. Check whether x and y vary inversely or not.

X 4 3 12 1
¥ 6 8 2 24

° Watch Video Solution

2. Check whether x and y vary inversely or not.

X 30 120 60
60 30

24
30 78

[ ° Watch Video Solution



https://dl.doubtnut.com/l/_52DiKIBn3HgX
https://dl.doubtnut.com/l/_GoQ1AmI9xFbJ

3. Check whether x and y vary inversely or not.

10

30

60

10

90

30

20

o Watch Video Solution

4. If x and y vary inversely, find the values of |,

m and n :



https://dl.doubtnut.com/l/_GoQ1AmI9xFbJ
https://dl.doubtnut.com/l/_86RRzWJTOJcY
https://dl.doubtnut.com/l/_jIpyC4rNeaL4

o Watch Video Solution

5. If x and y vary inversely, find the values of |,

m and n :

° Watch Video Solution

6. 36 men can do a piece of work in 7 days.

How many men will do the same work in 42


https://dl.doubtnut.com/l/_jIpyC4rNeaL4
https://dl.doubtnut.com/l/_zE2WjZJ6OOI2
https://dl.doubtnut.com/l/_Xf9Bs6B6nWv6

days ?

o Watch Video Solution

7.12 pipes, all of the same size, fill a tank in 42
minutes. How long will it take to fill the same

tank,if 21 pipes of the same size are used ?

o Watch Video Solution

8.1n a fort 150 men had provisions for 45 days.

After 10 days, 25 men left the fort. How long


https://dl.doubtnut.com/l/_Xf9Bs6B6nWv6
https://dl.doubtnut.com/l/_ONd7oMLk47Di
https://dl.doubtnut.com/l/_Xvk3SWq7rZRo

would the food last at the same rate ?

o Watch Video Solution

9.72 men do a piece of work in 25 days. In how

many days will 30 men do the same work ?

° Watch Video Solution

10. If 56 workers can build a wall in 180 hours,
how many workers will be required to do the

same work in 70 hours ?


https://dl.doubtnut.com/l/_Xvk3SWq7rZRo
https://dl.doubtnut.com/l/_jBkMw34GxbTs
https://dl.doubtnut.com/l/_cbJ9UOhr7LuZ

° Watch Video Solution

11. A car take 6 hours to reach a distination by
travelling at the speed of 50 km per hour. How
long will it take when the car travels at the

speed of 75 km per hour ?

o Watch Video Solution

Exercise 10 C



https://dl.doubtnut.com/l/_cbJ9UOhr7LuZ
https://dl.doubtnut.com/l/_KE8BixdWzSDf

1. Cost of 24 identical articals Rs. 108. Find the

cost of 40 similar articles.

° Watch Video Solution

2.1f 15 men can complete a piece of work in 30

days, in how many days will 18 men complete it

?

° Watch Video Solution



https://dl.doubtnut.com/l/_4o5Jdg5yYOxl
https://dl.doubtnut.com/l/_sLuzTWBWaeou

3. In order to complete a work in 28 days, 60
men are required. How Mny men will be
required if the same work is to be completed

in 40 days ?

o Watch Video Solution

4. A fort had provisions for 450 soldiers for 40
days. After 10 days, 90 more soldiers come to
the fort. Find for how many days will the

remaining provisions last at the same rate ?

| & I


https://dl.doubtnut.com/l/_n2KGJGVS4i3T
https://dl.doubtnut.com/l/_Tf6dJcBfAI1Y

| ¥ Watch Video Solution |

5. A garrison has sufficient provisions for 480
men for 12 days. If the number of men is
reduced by 160, find how long will the

provisions last ?

° Watch Video Solution

3
6. 5 quital of wheat cost Rs. 210. find the cost

of :

1 quintal of wheat


https://dl.doubtnut.com/l/_Tf6dJcBfAI1Y
https://dl.doubtnut.com/l/_akFoDypOTWRC
https://dl.doubtnut.com/l/_D7tP1TIqnXCP

° Watch Video Solution

3
7. 5 quital of wheat cost Rs. 210. find the cost

of :

0.4 quintal of wheat.

° Watch Video Solution

2
8.If 9 of a property costs Rs. 2,52,00, find the

cost of é of it.
7

o Watch Video Solution



https://dl.doubtnut.com/l/_D7tP1TIqnXCP
https://dl.doubtnut.com/l/_2wD5oIKIzosm
https://dl.doubtnut.com/l/_nbJypibGXz3v

9.4 men or 6 women earn Rs. 360 in one days.
Find, how much will :

A man earn in one day ?

o Watch Video Solution

10. 4 men or 6 women earn Rs. 360 in one days.
Find, how much will :

A woman earn in one day ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nbJypibGXz3v
https://dl.doubtnut.com/l/_oA0W10QojGc9
https://dl.doubtnut.com/l/_JLjuHRJ9g9Og

11. 4 men or 6 women earn Rs. 360 in one days.
Find, how much will :

A man earn in one day ?

o Watch Video Solution

12. 16 boys went to a canteen to have tea and
snacks together. The bill amounted to
Rs.114.40. What will be the contribution of a

boy who pays for himself and 5 others ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UeaS8shsoyvA
https://dl.doubtnut.com/l/_iUWDnYKGGzLB

13. 50 labourers can dig a point in 16 days. How
many labourers will be reuired to dig another

pond, double in size, in 20 days ?

° Watch Video Solution

14.1f 12 men or 18 women can complete a piece
of work in 7 days, in how many days can 4 men

and 8 women complete the same work ?

° Watch Video Solution



https://dl.doubtnut.com/l/_iUWDnYKGGzLB
https://dl.doubtnut.com/l/_GmvhvLRJLi0G
https://dl.doubtnut.com/l/_OoTnuGzBT7wk

15.If 3 men or 6 boys can finish a work in 20
days, how long will 4 men and 12 boys take to

finish the same work ?

o Watch Video Solution

16. A particular work can be completed by 6
men and 6 women in 24 days, whereas the
same work can be completed by 8 men and 12

women in 15 days. Find :


https://dl.doubtnut.com/l/_8x48j9kwmRy3
https://dl.doubtnut.com/l/_QUfIemGAfjVh

According to the amount of work done, one

man is equivalent to how many women.

° Watch Video Solution

17. A particular work can be completed by 6
men and 6 women in 24 days, whereas the
same work can be completed by 8 men and 12
women in 15 days. Find :

The time taken by 4 men and 6 women to

complete the same work.

° Watch Video Solution



https://dl.doubtnut.com/l/_QUfIemGAfjVh
https://dl.doubtnut.com/l/_AplOn1K86ne2

18. If 12 men and 16 boys can do a piece of
work in 5 days and, 13 men and 24 boys can do
it in 4 days, how long will 7 men and 10 boys

taketodo it ?

° Watch Video Solution

Exercise 10 D

1. Eight oranges can be bought for Rs. 10.40.

How many more can be bought for Rs. 16.90 ?


https://dl.doubtnut.com/l/_AplOn1K86ne2
https://dl.doubtnut.com/l/_qUVywoeAeiDy
https://dl.doubtnut.com/l/_Xvjo7pvbywTn

° Watch Video Solution

2. Fifteen men can build a wall in 60 days. How
many more men are required to build another

wall of same size in 45 days ?

° Watch Video Solution

3. Six taps can fill an empty cistern in 8 hours.

How much more time will be taken, if two taps


https://dl.doubtnut.com/l/_Xvjo7pvbywTn
https://dl.doubtnut.com/l/_OsUSjhLrWRNW
https://dl.doubtnut.com/l/_dcGMfZQY9scL

go out of order ? Assume, all the taps supply

water at the same rate.

° Watch Video Solution

4. A contractor undertook to dig a canal,6
kilometre long, in 35 days and employed 90
men. He finds that after 20 days only 2 km of
canal have been dug. How many more men

must he employ to finish the work in time ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dcGMfZQY9scL
https://dl.doubtnut.com/l/_sc8e1SyLv6qf
https://dl.doubtnut.com/l/_7ATIFQTIvvXt

5. If 10 horses consume 18 bushels in 36 days.

How long will 24 bushels last for 30 horses ?

o Watch Video Solution

6. A family of 5 persons can be maintained for
20 days with Rs. 2,480. Find, how long will Rs.

6,944 maintain a family of 8 persons ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7ATIFQTIvvXt
https://dl.doubtnut.com/l/_4aAt1iB3tMMX

7. 90 men can complete a work in 24 days
working 8 hours a day. How many men are
working 8 hours a day. How many men are
required to complete the same work in 18 days

working 75 hours a day ?

o Watch Video Solution

8. Twelve typists, all working with same speed,
type a certain number of pages in 18 days

working 8 hours a day. Find, how many hours


https://dl.doubtnut.com/l/_rxx3KWyGMLDi
https://dl.doubtnut.com/l/_iaAvkEeM8xHs

per day must sixteen typists work in order to

type the same number of pages in 9 days ?

° Watch Video Solution

9. If 25 horses consume 18 quintal in 36 days,

how long will 28 quintal last for 30 horses ?

o Watch Video Solution

10. If 70 men dig 15,00 sq. m of a field in 5 days.

Find how many men will dig 22,500 sq. m field


https://dl.doubtnut.com/l/_iaAvkEeM8xHs
https://dl.doubtnut.com/l/_MVVJVI3QjNca
https://dl.doubtnut.com/l/_nqiXDSyVxEqO

in 25 days ?

o Watch Video Solution

1. A contractor undertakes to build a wall
1000 m long in 50 days. He employs 56 men,
but at the end of 27 days, he finds that only
448 m of wall is built. How many extra men
must the contractor employ so that the wall is

completed in time ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nqiXDSyVxEqO
https://dl.doubtnut.com/l/_TeFT2mJQVY6c
https://dl.doubtnut.com/l/_elnPVmxSeEDk

12. A group of laboures promises to do a plece
of work in 10 days, but five of them become
absent. If the remaining labourers complete
the work in 12 days. Find their original number

in the group.

o Watch Video Solution

13. Ten men, working for 6 days of 10 hours
5
each, finish 21 of a piece of work. How many

men working at the same rate and for the

same number of hours each day, will be


https://dl.doubtnut.com/l/_elnPVmxSeEDk
https://dl.doubtnut.com/l/_Q30sGbxE0JxS

required to complete the remaining work in 8

days ?

° Watch Video Solution

1. A can do a piece of work in 10 days and B in
15 days. How long will they take to finish it

working together ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Q30sGbxE0JxS
https://dl.doubtnut.com/l/_3UgIU7Vn043Y
https://dl.doubtnut.com/l/_H4EMbG5j2CSH

2. A and B together can do a piece of work in
2
6§ days, but B along can do it in 10 days. How

long will A take to do it alone ?

o Watch Video Solution

3. A can do a work in 15 days and B in 20 days.
If they work together on it for 4 days, what

fraction of the work will be left ?

o Watch Video Solution



https://dl.doubtnut.com/l/_H4EMbG5j2CSH
https://dl.doubtnut.com/l/_5yPfn6jOIXo1
https://dl.doubtnut.com/l/_ITdjdxORShSW

4. A, B and C can do a piece of work in 6 days,
12 days and 24 days respectively. In what time

will they altogether do it ?

o Watch Video Solution

5. A and B working together can mow a field in
56 days and with the help of C, they could
have mowed it in 42 days. How long would C

take to mow the field by himself ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ITdjdxORShSW
https://dl.doubtnut.com/l/_jlscuEjm9WM5

6. A can do a piece of work in 24 days, A and B
2

can do it in 16 days and AB and C in 10§ days.

In how many days can A and C do it working

together ?

o Watch Video Solution

7.A can do a piece of work in 20 days and B in
15 days. They worked together on it for 6 days
and then A left. How long will B take to finish

the remaining work ?

| & I


https://dl.doubtnut.com/l/_vgh3a89KhPWT
https://dl.doubtnut.com/l/_dRMXdcBlmHzn

| ¥ Watch Video Solution |

8. A can finish a piece of work in 15 days and B
can do it in 10 days. They worked together for
2 days and then B goes away. In how many

days will A finish the remaining work ?

o Watch Video Solution

9. A can do a piece of work in 10 days, B in 18
days and A, B and C together in 4 days. In what

time would C do it alone ?


https://dl.doubtnut.com/l/_dRMXdcBlmHzn
https://dl.doubtnut.com/l/_XS9aV2nuPrGL
https://dl.doubtnut.com/l/_QmDSAiWsioAQ

o Watch Video Solution

10. A can do 1 of a work in 5 days and B can

1
do 3 of the same work in 10 days. Find the

number of days in which both working

together will complete the work.

o Watch Video Solution

11. One tap can fill a cistern in 3 hours and the

waste pipe can empty the full cistern in 5


https://dl.doubtnut.com/l/_QmDSAiWsioAQ
https://dl.doubtnut.com/l/_ztc55wunml00
https://dl.doubtnut.com/l/_ACx7LgLYZzku

hours. In what time will the empty cistern be
full, if the tap and the waste pipe are kept

open together ?

o Watch Video Solution

12. A and B can do a work in 8 days, B and C in
12 days, and A and C in 16 days. In what time

can they do it, all working together ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ACx7LgLYZzku
https://dl.doubtnut.com/l/_yfDNli79kEKW

13. A and B complete a piece of work in 24
days, B and C do the same work in 36 days, and
A, B and C together finish it in 18 days. In how
many days will :

A alone,

o Watch Video Solution

14. A and B complete a piece of work in 24
days, B and C do the same work in 36 days, and

A, B and C together finish it in 18 days. In how


https://dl.doubtnut.com/l/_5iukBZ8kwfLG
https://dl.doubtnut.com/l/_dFuhD9KWSuXP

many days will :

C alone,

° Watch Video Solution

15. A and B complete a piece of work in 24
days, B and C do the same work in 36 days, and
A, B and C together finish it in 18 days. In how
many days will :

A and C together, complete the work ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dFuhD9KWSuXP
https://dl.doubtnut.com/l/_IGP33kHof78n
https://dl.doubtnut.com/l/_uXgO9MQ6xarO

16. A and B can do a piece of work in 40 days, B
and Cin 30 days, and C and A in 24 days.
How long will it take them to do the work,

working together ?

° Watch Video Solution

17. A and B can do a piece of work in 40 days, B
and Cin 30 days, and C and A in 24 days.

In what time can each finish it working alone ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uXgO9MQ6xarO
https://dl.doubtnut.com/l/_Ok8EPGKCM9ch

18. A can do a piece of work in 10 days, B in 12
days and C in 15 days. All begin together but A
leaves the work after 2 days and B leaves 3
days befor the work is finished. How long did

the work last ?

o Watch Video Solution

19. Two pipes P and Q would fill an empty
cistern in 24 minutes and 32 minutes

respectively. Both the pipes being opened


https://dl.doubtnut.com/l/_9gUhSwqRC9p7
https://dl.doubtnut.com/l/_w82FhXSZ3jOd

together, find when the first pipe must be
turned off so that the empty cistern may be

just filled in 16 minutes.

o Watch Video Solution



https://dl.doubtnut.com/l/_w82FhXSZ3jOd

